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PART T (46 points)

Answer the questions for (A) The Treasure of Lemon Brown.

A. THE TREASURE OF LEMON BROWN / Walter Dean Myers

Answer questions 1-5.

i.

2.

Tn the past Lemon Brown was (-},
(i)  a basketball player

(ii)  a harmonica player

(iii}  a postal worker

(iv) asoldier
{7 points)

Why does Lemon Brbwn givé the treasure to his son? He wants his
son to (—).

(i) be a blues singer

(ii)  keep it safe

(iii) have money

(iv) know who he is

(7 points)
The newspaper clippings are about ().
(i)  the death of Lempon Brdwn's son
(ii)"  thugs that stole treasures
(iii) Lemon Brown's shows
(iv) men who fought in the war
(7 points)
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PART 1K (39 points)
Answer the questions for (B) Thank You, M'am.

ey,
rFd

N o T domp O
SASIE

B, THANK YOU, M'AM / Langston Hughes

=

7.

Answer questions 6-10.

4

Fe=
=

2,

6. What do we know about Mrs. Jones?

(i)  She lives in a house with other people.

&

FICWARY
el N

(ii) She doesn'thavea job.

v

=
(g

(iii) She has a large family.

(iv) She doesn't leave her home at night.

7,
W =

==
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(6 points)
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7. Roger felt uncomfortable when Mrs. Jones (-).

(i)  told him she called the police

R,

2"

(i)  left him alone with her purse

N7
SN~

(iii) told him to stay after dinner

Z

(iv) asked him about his life

Y

{6 points)

)
—

]

8. Why does Roger offer to go to the store?
(iy  He thinks Mrs. Jones needs food.

(i)  He wants to steal her money.

5 TN T '
S T P AR

, &
AENE

(iii) He is tired of doing nothing.

N

(iv) He wants Mrs. Jones to trust him. :
{6 points)

9, At the end of the story, Roger (-).
(i) tells Mrs. Jones he is sorry

(i)  doesn't take the ten dollars

=g PN #2 LA

oI,

(iii} can't find anything to say

(iv) tells Mrs. Jones she is a kind lady
, (6 points)
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Answer the question for (11) Count That Day Lost OR (12) Mr. Know All

OR (13) A Summer's Reading.
Suggested length: 60-80 words.

11.

PART HIL (15 points)

COUNT THAT DAY LOST /George Eliot
George Eliot lived and wrote during the 19th gentury. Although her family

was wealthy, many of her poems and novels described poor and uneducated
people living in England. She was sensitive to the suffering of others and did
all she could to help them. — Adapted from A History of the Victorian Era,

the Library of Congress

Make a connection between the above quote and the poem. Give information

from the poem to support your answer.

MR. KNOW ALL/W. Somerset Maugham

"It is not easy to know people from different backgrounds. We usually don't
want to accept them because we think they are different from us and we

sometimes think they are not as good as us." — Professor James Bentwich,

"Social Trends in Modern Society”

Make a connection between the above quote and the siory. Give information

from the story to support your answer.

A SUMMER'S READING / Bernard Malamud

"In his stories Malamud writes about social issues like education, poverty

and the problems of immigrants in America." — Adapted from A Biography

of Bernard Malamud, Mordecai Marcus

Make a connection between the above quote and the story. Give information

from the story to support your answer.
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Use this page and the next (pages 7-8) for writing a rough draft.

Y ATy Y A T A T B N LT T g A P T I N o e T B P i = SNy gt
hy == oo oy g &F G Sy Py, §F Hog Y " fesg =y R 7 PAR N YN Y AN 2y A ARNG 7]
= ,ﬁimw@mwmﬁﬁ ST L STV T T T oL o SN R o A e N T
/ . K = = o 7 o e 7
M,ﬂ,ﬂwﬁmm WMMMMMWAHA (N CLULT TNILL 11! W%ﬁﬂé ‘M.,wmpw?ﬂﬂha ﬂ..mwﬁ.w?uﬁf A W s &7 aye ey n._ry@ W.wfw?hﬁt e
EO O e - e =~ & i It T S A & A Y
Mo AN BTN oy ﬂvﬂfh\% ST SN .umﬁ@\‘v\% yﬂ#ﬂdﬂ@\wb :ﬂ&%ﬂ.ﬂh&\wﬁﬂ ﬂ@%ﬂWh@V& AN S AN Y .,_M M@ﬂuﬂ&.\v R ﬁ.wm
MR A s LD A S s NS SN Ao s LT A s, ezl sl A e s om A s ad s N, SV A e g L

RN e Y e T S, o = o o= . 3 i 5 ¢ o=
i .W./WW ,WWWV .Mw.wu R S ) A T v v Ey5 &Wwﬁﬁw&mﬂo e Mv%mw..,w%w/wa D A s e e i T e A ST A

e

=" o ol pd s =g P 4 = Ty s s e oo ™
~Tp LS ﬂvﬁ\\q\a\ﬂuﬂfﬁu\\”ﬂ\@\ﬂ@ﬂyﬂ\\.ﬁv\w\ ’Jun.\\ﬂuv\n \ﬂnﬂfﬂ\\ﬂw\w\ﬁv fk.\\a#\d\ﬂu“ffnn\\ﬁv\a f<i a&uu\\nﬁ\.&\.ﬂ.ﬂ.ﬂ.ﬂ\\ﬂa\&\.ﬂ&ﬂ%\\oﬂ.\ 7E
Mm«n@u@@ﬂ\ﬁwﬂw\whs«m\ﬁn%\%\whﬁ\ﬁdwﬂwwv% A AT T A N A e N L AN PN TR DA TR o Ly

AN CEAR S AN SRR AN S b A bbb AN Y P Ay



Navl + 414,016115 700 1"vwn Y2 1100, 750N

Write your final version here:

19nvgna
SR 1T ANBY DR M
TIPND TN MY Nox 0T197 W 7yt P

az‘é’ﬁuhﬂbunn‘d
RSN
N N2
PSS
TRANF o RN N P
LSO TN
NSl s o s
wa%WWN s3%0

w5

LS

\dﬂ“ﬂu

T R
LT f

LAY AR
Ty g, o
SN
AL
o B Y, N

e
2 o N
WSS T
)
R AN
TP T

=

R OS5 ¢ ey oy
e Q&:.
= Wﬂ%\wﬂw\\

YA

LRSSV NV



N A R A e EV RIS PRSI A NN A TSNS, 00 A s T
DRSS [ g ¢ ere T 2R SR

R 13N Lt f&!féy.\%u&ciﬂ.a\
PO N éaa\w;u\ﬁf. D b s S o TR L SN A TSNS AN S
¢ Vo It o= e NSy, i@fﬂ?ﬂ }i TAAWRN SN v s s 2L
< i L e
oﬂeﬂ&ﬁh’aﬁ%ﬂ\fﬂwaﬂué.ﬂnhw% o N g T ﬂﬂfﬂﬂn”\ﬁ“ﬁ N 8 el LS ] 7t

) ﬂﬂv““ \.ﬂv Eﬂnﬂvﬂu.y“ \Wﬁuﬁ n#ﬂﬂ%ﬁ.lm
/k 7! e =N SV AL Ay VS T A SR A Tl SR
M%\dg\fﬂa\fﬂﬂn\\i\ nﬂ\lﬂu\hﬂa\ufnﬂ\fﬂa\aﬂﬂu\h aﬂ%fnﬂ.ﬁ\hﬂu\hlﬂﬂ\%@ﬁ&h”ﬁ\&”ﬂ\nlﬂ.F&%ﬂu,\slﬂ\linwﬁ\“\ﬂa.\uﬁ“ﬂ&bf,u.% 2500 W N )
o Femp 2 |f\»a-ﬂ-h:h|l-oﬂ.'lnp» g RSP S 2 2
“wn
e T
2
3]
L
= &
bl o W
_ = g 8.8
2 = @ B o
€] A Q = > m
B = 0 g aS.w = o
B, =2 T ooy 2 8 =
p €] = = -] m <
2 A BL < =0 =0 Q
E - A -
q = g =2 = -4 o
& E g3 5 ¥z
4 5 5E 0 g8
a = g g % g & .
q .o OB EBEEE28 ,
0} e [T
. =) OAMdP S H
5 Z,
)
U.v % ® (=] @ 2] [:] @
g B
P -
Ly
o
=
p=3
<
+
D
a
c




